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M LOISXSA(MEIER/ L0l - HAH)
gelr e M3 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 116,735
11 AMEISXAEEXS 333,530 292,569 40,961
OSHEL! - H0He! SSAHE Y MHIA A
e 333,530,000 *14] 333,530
[ 166,765
= 50,030
Al 116,735
DIESSSINI=) 160,327,552 150,341,511 9,986,041
= 144,294,797
= 3,206,551
Al 12,826,204
301 LEetE N = 160,327,552 180,341,511 9,986,041
= 144,294,797
= 3,206,551
Al 12,826,204
01 Al EEABZ2(2DEEMR) 160,327,552 150,341,511 9,966,041
OJl=¢gi3 XN& 160,327,552,000& » 141 160,327,552
= 144,204,797
< 3,206,551
Al 12,826,204
d=29| & A XIE 32,000 16,500 15,500
201 Ler23| 20,000 4,500 15,500
03 Al ] 20,000 4,500 15,500
Ozolol & 2 F2o 2 EA
20,000,000 x 14 20,000
301 EetE2 NS 12,000 12,000
11 AALAHIXIES 12,000 12,000
Ow0lo] ' JIESAF EIIK AlH| 24
12,0002 %1,000& 12,000
2 PAQHEX] 492,000 492,000 0
307 glztol & 492,000 492,000
04 QIZHHAMAMH 2 & 492,000 492,000
OB 2 LR AL
492,000,000 x 14 492,000
222 =iz 8,000 8,000 0
307 QIZHOIH 8,000 8,000
04 QIZFHAIAII B 8,000 8,000
00124 MERS(N0IEE S) U3l
8,000,000 * 14 8,000
colgiitiel & ABIESKIE EH(EX) 21,091,500 20,038,273 1,063,227
= 10,545,750
== 3,163,725
Al 7,382,025
101 eI24d| 5,726,600 6,028,000 A301,400
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M LOISXSA(MEIER/ L0l - HAH)
gelr e M3 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,863,300
=S 858,990
Al 2,004,310
04 JIZtNZ2Z2XNSE+ 5,726,600 6,028,000 A301,400
OLQIASIE#SIIZ BRA &OIX ol2t|
5,643,000,000& 14] 5,643,000
= 2,821,500
= 846,450
Al 1,975,050
OLQASIE2SKIE EXAY S0 &=
g 40,0002 x190E ~11& 83,600
= 41,800
=S 12,540
Al 29,260
201 223 217,520 229,120 211,600
= 108,760
=S 32,628
Al 76,132
01 AtR2te|HI 217,520 229,120 A11,600
COIMSIESTIE EXAY =& 203
217,520,000 x14] 217,520
= 108,760
= 32,628
Al 76,132
202 04| 2,880 2,880 0
= 1,440
= 432
Al 1,008
01 2L AL 2,880 2,880 0
OLQIANSIESXIY BEXAY =& GHI(E
g, £) 2,880,000 *14] 2,880
= 1,440
= 432
Al 1,008
301 LEtE NS 38,000 40,000 /2,000
= 19,000
= 5,700
Al 13,300
11 #AIAMHIXIZ S 38,000 40,000 A2,000
O QASESXId BXAIY ZHX nS(
2+e8]) At 10,0002 *1,900E <22 38,000
= 19,000
= 5,700
Al 13,300
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gelr e M3 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 QI2H0I & 15, 106,500 13,738,273 1,368,227
= 7,553,250
= 2,265,975
Al 5,287,275
10 NS EXANLEH2YH 2 E 1,124,760 1,024,062 100,698
OLQIANSIZSTIRAY SIH480|2 Fet
012 oI21y| 1,124,760,00021%14] 1,124,760
= 562,380
= 168,714
Al 398,666
11 AEI = XAl B X 13,981,740 12,714,211 1,267,629
OBIZIE#I |2 LOIASIHSTIRAY
3,981,740, 00024+ 14! 13,981,740
= 6,990,870
= 2,097,261
Al 4,893,609
Lolgxiel o ASIES X2 EH(AHA) 2,763,014 2,929,004 165,990
101 21248 2,631,600 2,783,250 A 151,650
VPR EE =R 2,631,600 2,783,250 A 151,650
OLQIABIZSRIR RAAY HOIX 2121H]
200,00024+1,000% 92 2,610,000
OLOIMBIZEXR THARY HOIX SX4
o 40, 00021460 92! 21,600
201 2er2y] 78,214 8,904 28,690
o1 M2l 78,214 86,904 28,690
OLQIABIZSRIY 27 MRB2IH)
78,214,002 14! 78,214
208 2R E=ZIH| 1,800 2,000 2200
03 AHFTY LS| 1,800 2,000 2200
OLoIURI2l AlZEZ
1,800, 00021 14] 1,800
301 LBHRHS 28,000 34,050 26,050
11 BAAIEIXIR2 28,000 34,050 26,050
OLQMNSIZSXR BOX DF(2HS]) &
bl 10,0002!+2,80021 13 28,000
307 912101 & 23,400 22,800 600
02 BIRIAMARIEE 23,400 22,800 600
OLQIABIZSRIRAY DI2H480I2F FE
012 WS4 50,0002 392 * 122 23,400
OiISAILIIZ2Y 29 X2 (ZH) 346,710 33,480 10,230
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= 104,013
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307 elztol & 20,000 16,500 3,500
05 2ItRIE = 20,000 16,500 3,500
O ==AILIEE 2¢ X2
20,000,000& x 14 20,000
LRI RUEE 10,689,670 11,353,599 AN\663,929
=S 2,575,919
Al 8,113,751
101 21AH| 17,692 19,302 1,610
04 JIZtN2Z2XNSE+ 17,692 19,302 21,610
OFIILI2 TR - 3 Ml =<0IAY 17,692
=JllEa 78,8803 x1H #5231 12,227
S 78,8801 24312 2,446
oMEeT BAELL
6,800 x1H+62*31= 1,265
oMNBIEER 1,754,000& x14] 1,754
201 Ler23 | 8,440 9,280 AB40
01 At22t2lt] 2,640 2,880 A240
ER=lest Sl 240
WAl 212012 AEaAFIES O
2 ASRE 7A(H4Y S)
40,0002 62 240
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o0==Al FIIQYINANEHARAZE 2
o &g 100,000& 4 & *62] 2,400
03 A2 SHI 5,800 6,400 2600
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01 2LHoIH 320 340 A0
O SXEAL R NE=ESH
20,0003 x2Z *12+83] 320
301 EetE2 NS 10,411,618 11,188,377 AT76,759
s 2,424,959
Al 7,986,659
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< 1,395,037
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OLQMEAIL 2220+ST 23
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= 7,472
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11 #AIMHIXIZ S 3,360 3,600 AN240
OLoleed|2t AL et ATE N
ks 3,360
o2& FOA AHl NS(SEHl & 244
Bl) 12,0002 280 3,360
307 glztol & 251,600 136,300 115,300
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Al 100,640
1 AMEISXAEEXS 251,600 136,300 115,300
OLQIFtESHE T28 K&
251,600,000 * 14 251,600
= 150,960
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CQIEH XA 210,953 217,059 26,106
[ 19,893
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201 Ler23 | 25,760 27,510 A1,750
01 At22t2lt] 25,760 27,510 1,750
O'HAAI dE 5=
25,760,000 »14] 25,760




od
i’
oF
uJ

% m (e} o [e]
< = 4 < 2
o~ — N o
Eo < < < <
E
E=)
2 8 9 °
@ S © & g g 8
E) 2 = ¥ 8 ~ ~ ©
(o]
g
RIS
@ o o
gGEEE8 58 8 5 5 5 5E8E § EG GHESNEINEy guef
% o2 g|lg @ @~ ol ® ™ < © ™ © B Y Y 7o) o _R/u, _&, mm, mw, N o wo|N oo~ N o wou|m
al
<
S
H = H = W = H = H = H =
a4 44 & 4 4 44 < 44 g g
* x x * x x *x x x * x * *
ol oo W W W o o o W W ol ot
o g n 88 8 8 8 8§ § g8 848 g g
= ey 5 =~ 5
o) g 2 88 8 8 8 8 8 g 8KE 5 ® 3
. S B B o 0§ © & o 8 O Ho S =N
: = s :
v o =) D
~ KU iy m W3 80 z) — -
= R R = m_ o o 0B - om % Kl0 -
- 9 ® <~ 5 3 ¥ §= § =z o : g =
= 30 F5 m o B oo HoBA 3 Z o 2 o =< &=
@ Kl oy Rem WX = = @ @ 4w < KX LS o %0 i
= L Wol = @ B F B w2 y* I opow = s N "
F a o My T WG W oF om_cE - g = o :
) < X @ S X Bz @@ & g %0 o R 5) "
g ) =0 Wl o o - _ ol ) = ol H oJ =z © | 20 2 E
S =) <8 HR *T oy = 5 L Aoaw A T D o P B
e = S == o I 5 WAL AW H I 20
0 A A 3J oJ o|1 W o ofll ar ) =l T ioJ ol M Qho = oy ol (=)
O = z %x WT mo_ H 2 R H g Too T =X mm ol = H =
2 |5 S O O O O go O -0 X = g O o
ﬁ_l O;_ ™ O;_
H A




FA I OoNel 1t
M LOISXSA(MEIER/ L0l - HAH)
Chel: == M3 X (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 3,000 5,000 22,000
01 At2teltl 3,000 5,000 22,000
Odgt+=ZH| 3,000
oEHMUE = MH
3,000,000 %14 3,000
LolESSdE ESNeALE 170,300 173,320 A3,020
201 2= 1,500 1,500 0
01 At22t2l] 1,500 1,500 0
Ol o2l E=ktel A4
300,000 *57H 2 1,500
202 04l 800 1,820 A1,020
01 =LHAHI 800 1,820 1,020
oolzdl 222l 28 ZLHE =4
20,0003 *4 S+ 1000 2 800
301 EetE NS 168,000 170,000 /2,000
02 NRI2HHSFS(HAAS, NLHE) 168,000 170,000 £2,000
oozd 23Xiel 224l
153,000,000 * 14! 153,000
Ooozd E23Xel SSXE At
3,000,000 *57H 2~ 15,000
Ols =oltist 2t 25,000 25,000
307 el2to| & 25,000 25,000
11 AMEISXAIEEXS 25,000 25,000
O0ls eliist 24|
25,000,000 * 14! 25,000
OEaXZ0let SsSUa AFLII] A 109,080 109,080 0
== 32,724
Al 76,356
301 EtE NS 109,080 109,080 0
= 32,724
Al 76,356
02 ARSI 2 X LGS (FHAAHS, XNLWE) 109,080 109,080 0
ONZAXZ0IE SSUHat QRAT|I| ALY
109,080,000 14 109,080
= 32,724
Al 76,356
HEUZAMFHE 2S 372,352 447,189 ANT4,837
101 e124d| 183,364 234,801 A51,437
M ORNZZ2NSE S 183,364 234,801 Ab1,437
O ZU=SHSHE 23 183,364
o2y 78,8803 x5 x5 #52== 102,544
oFFrY 78,8802 x5 & x52== 20,509
oMBAZ BHLY
6,800 x5 +6 +52%= 10,608




A =QIE0HRI Dt
. LS SE(AIZSXI/ L0l - HAHE)
gelr e M3 N (St &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
oA EEZ 14,703,000 & * 14! 14,703
SISESES, 35,000,000 14 35,000
201 et | 115,228 129,028 A 13,800
01 At 2elt] 28,848 29,148 A300
2Bt~ H| 12,300
oXkE FIILH BIILA
1,500,000 * 14 1,500
cHTA S HAEE 7Y
50,0002 x6IH 243 1,200
oSt A (SHEl - HEEIS)2E 7Y
50,0003 *6IH L+ 122 3,600
o223 ANREE ¢ 200,000& * 103 2,000
oaAIE H3)ls B4 ¥ SEEHUYEH
4,000,000 14 4,000
ogxz 5,508
o&D| 2teld] 25,5002 8CH*12& 2,448
oZIIFED| &2yl
15,0003 *2CH* 12 360
oSI&A IO 2eldl
12,5002 = 18CH* 12 2,700
Oztels4| 11,040
CRONSYLAIL FIett]
200,000 * 122 2,400
ozl B2E f=@e
220,000 x1CH+12& 2,640
o@IIpIEBR| FIE]
500,000& =123 6,000
2 S=29| 86,380 99,880 213,500
03322 % HMAl 31,800
oXMIIL3 1,200,000& * 12& 14,400
oiot+ERZa 250,000 123 3,000
ST AIIIA 23 900,000& =123 10,800
ST 300,000& =123 3,600
OAI&EEH| FXIdI 54,580
o Ad2EHl =&l
20,000,000 14! 20,000
S0 EA 130,000 *36CH 4,680
olEDSII+ Xl 100,000& *54 500
ot HA 500,000 *43] 2,000
o=E S HieeA DY
10,0002 *730E « 13| 7,300
oN=X83 FA 2Y
1,000,000 *23| 2,000
ox=SFE Y 2,000,000 14 2,000
oA HH ix & M=ZY
2,000,000 =14 2,000
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gelr e M3 N (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oI I . Y KA2AL
8,000,000& *14] 8,000
otfFAE FAl2c
1,500,000 100 2 1,500
=(CCTV s Al2eld] 500,000 *16CH*20% 1,600
ST AIJA AlE FXI2eld]
3,000,000 14| 3,000
202 04t 440 680 A240
01 =LHOHI 440 680 A240
OIZZ23 Jhgol 2 e Bix|or
110,000 x2E * 12 %23 440
206 M=l 1,800 2,000 A200
01 MHZHI 1,800 2,000 A200
O AZLH 2 HAIE WEH|
1,800,000 *14] 1,800
301 LEtE NS 71,520 77,680 26,160
TETTEE 71,520 77,680 16,160
OO0t T2 AR
80,0002 182 x485= 69,120
OLelotunl =& 1,000,000& *23] 2,000
OZ2 g At 2HE 3
10,0002 %208 »23] 400
LoIEXAE X 7,877,320 7,346,078 531,242
= 956,805
Jl 400,108
= 784,057
Al 5,736,350
gl SESS=8 dE & 2384 NE 154,000 160,000 26,000
=S 46,200
Al 107,800
307 @I2t01 & 154,000 140,000 14,000
< 46,200
Al 107,800
11 AMEISXAEEES 154,000 140,000 14,000
O=ss=d 298 A
154,000,000 *14] 154,000
= 46,200
Al 107,800
CAXNE 28 HE=SSEE 0l AE 148,000 113,000 35,000
201 Zet=3hl 4,000 5,000 21,000
01 AtR2t2lHl 4,000 5,000 A1,000
OZAXS Lol S=A QI
4,000,000 * 14 4,000
301 LELEE S 144,000 108,000 36,000
02 MBI 2HEHSFHS(HAANS, KLHE) 144,000 0 144,000
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M LOISXSA(MEIER/ L0l - HAH)
el ==XIAIE X (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OSAXY Lol E==e =224 X2
6,00021 %2, 000 x240H*50% 144,000
Mot ol SXAIE 2| 68,173 70,093 1,920
= 13,635
Al 54,538
301 Eet2 NS 68,173 70,093 21,920
== 13,635
Al 54,538
02 ARSI 2E AT S(FIANS, XLETHE) 68,173 0 68,173
OMIt=ISXIAIE 22|
68,173,000 * 14| 68,173
= 13,635
Al 54,538
HIOH= 01 ATAHHE AL 178,752 162,920 25,832
= 44,688
Al 134,064
301 EetE NS 178,752 152,920 25,832
== 44,688
Al 134,064
02 ARSI E2E A S(FANS, XLETHE) 178,752 162,920 25,832
Ol AAHE AFS (500 2)
178,752,000 * 14| 178,752
== 44,688
Al 134,064
424 Fa34 1,333,694 1,312,050 21,644
) 400,108
Al 933,586
301 EetE2 N = 1,333,694 1,312,050 21,644
Il 400,108
Al 933,586
01 Al 2E AL S(FREXME) 1,333,694 895,050 438,644
OZzag 2a34(5H2)
1,333,694,000& x14] 1,333,694
Jl 400,108
Al 933,586
COISXIAIE 2HAH| 558 1,09 Ab37
= 167
Al 391
307 gl2to| & 558 1,09% AB37
=S 167
Al 391
11 ARRIS XA E X 558 1,095 AB37
wOIMBHAIE 2HALH|
1,500+ 1H* 1 A+312 %122 558
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< 167
Al 391
LRIEXAE SAML EESE 455,040 317,400 137,640
= 108,000
Al 347,040
307 gl2to| & 455,040 317,400 137,640
=S 108,000
Al 347,040
10 Al SXA2EE 22X 455,040 317,400 137,640
OLQQAAIE SAHA S8+
50,0002 «600E 122 360,000
< 108,000
Al 252,000
OMIHEI L2 (F0FHEH) SALL S
g2 20,0003 <3062 122 95,040
A LosK2 AR 3,000 118,743 A115,743
401 AlZHIZ SO 3,000 118,743 A115,743
01 A28l 3,000 118,743 A115,743
OBF GBS ==& 3,000,000 *14] 3,000
LoEx2 2Y XA(ZHl) 66,180 81,080 214,900
< 19,854
Al 46,326
307 glztol & 66,180 81,080 214,900
= 19,854
Al 46,326
10 Al SXAAEEHE2EHI2x 28,080 28,080 0
LOISRI2 SAK SE2H(3HA)
90,0002 x26H * 122 28,080
=S 8,424
Al 19,656
11 AMRISXAEEES 38,100 53,000 214,900
LoEXg T2 XA 38,100
olf dd2 Lt (A= 2)
24,100,000& » 14 24,100
= 7,230
Al 16,870
oS XIHH LS (S0 S 2)
14,000,000 * 14 14,000
< 4,200
Al 9,800
Lolsx2 29 X (XHA) 1,303,462 1,288,985 14,477
307 elztol & 1,268,462 1,157,603 110,859
05 2IMRIE S 1,268,462 1,157,603 110,859
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el ==XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O =AlolsA2 28 X3
567,285,000 x 14 567,285
OSH=eI=i2 28 A&
488,277,0003 14! 488,277
OS0ixLo=T2 22 29
212,900,000 x14] 212,900
401 Al HIZL 2018 18,750 112,493 AG3,743
01 Al&H| 18,750 112,493 A\93,743
OS0i=LI=X2 ZRAY HISErY DR
18,750,000 x 14 18,750
405 AtatsE = 16,250 18,889 2,639
01 ML ESFSHI 16,250 18,889 A2,639
OSHx=o=X2 IsE=3 Wil
16,250,000 * 14! 16,250
SO0E 0IS=A & SSHUEIHE X2 AL 74,000 74,000 0
307 glztol & 74,000 74,000
1 ARIEXAIEER 74,000 74,000
Os0E Ols=A & olssde 254
cl X2 7,000,000 +20H 2~ 74,000
LORAANME(DISEY) &5 756,000 92,840 663,160
= 378,000
= 189,000
Al 189,000
402 2IF X201 & 756,000 92,840 663,160
= 378,000
[ 189,000
Al 189,000
02 QI T2 AL EE (01X THE) 756,000 92,840 663,160
OBIHHZ J|IsE2 At
756,000,000 * 100 A 756,000
= 378,000
< 189,000
Al 189,000
Z2Y gt 2 23X (EX) 1,157,609 1,131,709 25,900
= 578,805
< 173,641
Al 405,163
201 2= 24,930 24,930 0
= 12,465
=S 3,740
Al 8,725
01 AtR2t2|HI 24,930 24,930 0
OZ2g 234l XA 25(8HH)=
24,930,000 * 14! 24,930
= 12,465
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M LOISXSA(MEIER/ L0l - HAH)
el ==XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 3,740
Al 8,725
301 EtE N = 218,579 218,579 0
= 109,290
< 32,786
Al 76,503
01 AR 2EHSHS(RNEERTHE) 218,579 218,579 0
OF2g 23y XL
218,579,000& x 14 218,579
= 109,290
[ 32,786
Al 76,503
307 elzto| & 914,100 888,200 25,900
= 457,050
< 137,115
Al 319,935
10 AlRISTIAIEEE 22X 914,100 888,200 25,900
OZ=z¢g gt XI&
782,600,000 x 14 782,600
= 391,300
< 117,390
Al 273,910
OZ=zd ddl X
250,000 *5267H 2 131,500
= 65,750
< 19,725
Al 46,025
Z2Y et & 23X (X)) 11,647 12,047 2400
201 Ler23| 7,847 7,847 0
01 At2teltl 7,847 7,847 0
OZ2¢g 2= N 2S(HBH) 2 (Ft
) 7,847,00021%14] 7,847
202 04| 3,800 4,200 2400
01 2K 3,800 4,200 A400
OARZ MEIEAF L JISE2AIY BE &
ol 20,0003 »2& 502 2,000
OZ2Y Lo3E =3 us
20,0002 x3& 30 1,800
ded =gl X2 830,633 918,120 A\B7,487
= 162,008
Al 668,625
307 @120l & 830,633 918,120 N87,487
== 162,008
Al 668,625




SN LoIZ0felD
M LOISXSA(MEIER/ L0l - HAH)
el ==XIAIE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
10 Al SXAIEEHE2EHI2x 830,633 918,120 A\B7,487
OZ=2Y 2| N
830,633,000 x 14 830,633
= 162,008
Al 668,625
2 JIsSEZAS(XHA) 1,047,000 1,148,000 101,000
401 AIEHIZ SR THYI 200,000 240,000 40,000
01 AlZ8| 200,000 240,000 240,000
O3z a2 28 JIs:E2
200,000,000& *x14] 200,000
402 QI”F X201 & 847,000 908,000 261,000
01 QI X2 AL E X (KEMITHE) 847,000 908,000 261,000
OZzg =32 AE
80,000,000& x 14 80,000
O=ths 200,000
oMIIEZY M=
200,000,000 %194 2 200,000
Os&d 22,000
oxdiZE E=
22,000,000 * 10 £ 22,000
OstefH 12,000
ocHIIEZRE E= 12,000,000 * 14| 12,000
OogdH 215,000
otEAEY B+ 15,000,000 * 14 15,000
cEMIZY A=(FLUFN)
200,000,000 *14] 200,000
OztyH 53,000
clsZEY E(FUEC)
25,000,000& »14] 25,000
otHAZY B 8,000,000& 14] 8,000
ocldERY 2+ 20,000,000 *14! 20,000
Ogate 40,000
oNzZZ2Y 24 20,000,000 * 14! 20,000
coldARY B4 (FOIR0)
20,000,000 * 14 20,000
Oous 25,000
oczdEdzd B
10,000,000 * 14| 10,000
osSNEEZE B
15,000,000 * 14 15,000
O=4s 200,000
oSHNZEZEY MF(FREO)
200,000,000& *x14] 200,000
Jd2g 2ds 29 175,692 197,436 N21,744
= 11,704
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COIA Ol 1t
LQISXIET(ALRISXI/ ENS)
HEAY 29 SEFSEED)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ox29o H(32g) s3I |22l A
A= 180,000 123 +20H 2 4,320
02 S3=gHl 464,292 504,776 N40,484
Os32=s # 133,392
ozt &
9,200,000& x12& 110,400
oS (3 2g=2
100,000 *23] 200
cUERYR 1,000,000 12 1,000
oUIIBHZEA Ehx
5,000,000& 12 5,000
oI (4N =Xl
4,000,000 *14] 4,000
ofdes = 22,0003 401~ 122 1,056
o2t Ssid 4523
1,500& 600+ 123 10,800
ogotde 52 X SAR=
10,0002~ 12 120
oS BYE NS Ste3
17,0003 =401~ 123 816
OA&EHl |X 111,120
ogazizal S|
10,000,000 *39H 2= 30,000
gD M 5 S &S K|
20,000,000& » 14 20,000
oRAHAE ZHl B
20,000,000 * 14! 20,000
o AEE ZAIBHHIRHCCTV) SXI2t2ld|
500,000 *307H 2*30% 4,500
cFHIY FH ALSFHI(0=HY)
6,000,000& 14 6,000
o2 [2eldl
1,000,000 x20H A 2,000
ocYATA R QASH NII=H (1Y
g9 1,192,480 23| x 122 28,620
Od =t 219,780
ST KR(ZREIIA) 7Y
1, 1102 +55kg*3, 6001 219,780
206 M=Hl 21,926 24,326 A2,400
01 M=8l 21,926 24,326 2,400
OFR2e ¥(Sotd) 20T M2 7
350, 0003 *20H 2x23] 1,400
Ogs3d 24 ]l 9,326
oFHAE| 37,2002 *30H 1,116
oltRFX 250,000& % 12H 3,000
ogas 6,000 «100H 600
oLEDS 120,0002+300K 3,600




FA I OoNel 1t
M LOISXSA(MEIER/ L0l - HAH)
Cel: HEAY 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oftag & 5,000 *100EtA 500
oHEY 3,000& *100EtA 300
oI Melg HILSSF(1002I8)
7,000&*302 210
Ostzz o 2a 180000214574+ 122 10,800
Ogaze 22228 i1
200,000 *23] 400
405 KHoHFSHI 103,850 100,000 3,850
01 ML ESFSHI 103,850 100,000 3,850
OFR2eo ¥l (82E) g2exiet 7
100,000,000 * 14! 100,000
Oztd&d sz =5010| 74 - X
3,850,000 = 1CH 3,850
IR FHOES NJAY 4,000 163,300 A159,300
307 elzto| & 4,000 13,300 29,300
02 SRIBAAR BT 4,000 13,300 19,300
Ogetze =H0IS ssYe N2
4,000,000 *14] 4,000
IS SFHH At 150,000 150,000
401 AIEHIZL SR 0HYI 150,000 150,000
01 AlZ8| 150,000 150,000
Ogs538d satd =g S
100,000,000 * 194 2 100,000
Ogzze S5 SUSN BAINM
50,000,000 »1IH 2 50,000
IHSH FEZ E+SA 80,000 80,000
401 AIZHIX 20 80,000 80,000
01 AlZ2H| 80,000 80,000
Ogs=d s=td ¥z 2=+
40,000,000& *27| 80,000
ZOHQ! SRS (AR X/FHAHESXR) 64,300,742 63,782,845 517,897
= 34,749,870
< 7,410,944
Al 22,139,928
ol Moty XA 47,770,109 47,061,928 708,181
= 29,729,942
== 4,962,710
Al 13,077,457
ol Moty F A K 284,060 215,430 68,630
< 41,040
Al 243,020
201 Ler23 | 59,560 63,580 24,020
= 5,040
Al 54,520




SA I OoNel 1t
3 ZOH SNST(ARSA/HLAHSKIE)
cHRlr Hopel dEory XX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 50,010 54,030 N\4,020
Odit==H| 38,510
oZOHR! Q1ADDM NE 2
400, 00024 %141 400
SHOI=T A2 TE2
33,600,000 * 14! 33,600
< 5,040
Al 28,560
o0 HAANL(FR) & 2= WA
1,000,000 %141 1,000
SROWUNIEST HXl 2
1,030,000 *14] 1,030
SAZEOQ Bt HHH A MA
25,0002 »80 2,000
oMUIANBI 2t XE AARRIRS] JHEI (A
REE S) 80,000 *62 480
Oo=2g=g 11,500
o0 QIADHA HE W= 1,400
—dA=E 250,000 x1H #4353 1,000
-nsH S 00,0002 124 x43] 400
SFUBSAHIA 2BNANIFIAE &
o =g 100,000 x2& »82| 1,600
SHEIATIBIIZ XNE AAMSIRE &A%
g 100,000 *5& x33] 1,500
oHUASTE +SNAA AR &
& g 100, 000272 10| 7,000
2 ZZ2H| 9,550 9,550 0
OFOfOI=XIIE B8 S)|4as
3,820 +2,5004 9,550
301 22N 180,000 106,850 73,150
< 36,000
Al 144,000
02 MBI 2HHSFHS(HAANS, XLHE) 180,000 106,850 73,180
OXMEHOH! 2/ZH| XA
180,000,000 *14] 180,000
= 36,000
Al 144,000
308 AtXIEHMSOIE 40,000 40,000
18 SIS AS A 40,000 40,000
OFOH! 1A WO 210 HIE
40,000,000& *14] 40,000
405 AHAHE S 4,500 5,000 A500
01 AL =S F = 4,500 5,000 2500
OHItES XN HE BoYsE 24
4,500,000 *14] 4,500
o 20101 W 26,557 26,557 0




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 21,246
Al 5,311
301 EtE NS 26,557 26,557 0
= 21,246
Al 5,311
01 Al EE AT Z(2DEXR) 26,557 26,557 0
OFMAZRII| W
26,557,000 * 14 26,557
= 21,246
Al 5,311
MNASEOHR! MEHl & ZAE X2 5,664 5,3% 328
= 2,832
= 850
Al 1,982
301 EetE NS 5,664 5,336 328
= 2,832
= 850
Al 1,982
01 Al EE A S (2 REXMA) 5,664 5,336 328
ORASHONQ ZIEH L LA X
5,664,000 * 14 5,664
= 2,832
= 850
Al 1,982
o2 =HIXI&A 300,843 473,250 A172,407
= 240,675
= 18,050
Al 42,118
308 AXIHMSOIA 300,843 473,250 A172,407
= 240,675
& 18,050
Al 42,118
18 SIS0t & AAS A 300,843 473,250 A172,407
Ol 2l=Hl XI&
300,843,000 x 14 300,843
= 240,675
< 18,050
Al 42,118
gofelis 50 K= 9,234,843 9,234,843 0
= 6,464,389
< 831,136
Al 1,939,318
301 EtE NS 9,234,843 9,234,843 0
= 6,464,389




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 831,136
Al 1,939,318
01 A2 HSHS(RNEERTH) 9,234,843 9,234,843 0
OFRINZ 20 X2
9,234,843,000& 14! 9,234,843
= 6,464,389
< 831,136
Al 1,939,318
== (0lx) X2 805,308 805,308 0
= 563,716
[ 72,478
Al 169,114
301 LELEN S 805,308 805,308 0
= 563,716
== 72,478
Al 169,114
01 Al 2E A S(SRNEXMHE) 805,308 805,308 0
OO (IZ) X2
805,308,000 x14] 805,308
= 563,716
s 72,478
Al 169,114
i (XA K= 715,906 715,906 0
= 501,134
=S 64,432
Al 150,340
301 22N = 715,906 715,906 0
= 501,134
= 64,432
Al 150,340
01 Al EE A S (2 RDEXA) 715,906 715,906 0
OZU+2(RIN9 S) XS
715,906,000 *14] 715,906
= 501,134
= 64,432
Al 150,340
&0 SABIEA 5,000 7,000 ~2,000
= 3,500
= 450
Al 1,050
301 LeHEN= 5,000 7,000 22,000
= 3,500
= 450
Al 1,050




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 A EEATZ(2DEZME) 5,000 7,000 /2,000
ON gl EatHIE X2
5,000,000& 14 5,000
= 3,500
S 450
Al 1,050
ZoHety sat Xd= N2 10,000 10,000 0
301 EtE N = 10,000 10,000
02 ARSI 2 XSG (FHAAHS, NSWE) 10,000 10,000
O &4 XNa=
10,000,000 * 14 10,000
OdZ0ie S8W AMHlA XA 209,705 209,705 0
== 52,426
Al 157,279
307 212+01& 209,705 209,705 0
= 52,426
Al 157,279
11 AMEISXAEEES 209,705 209,705 0
ON -l S MHIA Al 2EH|
209,705,000& x 14 209,705
= 52,426
Al 157,279
o EsXE=0H XA 26,726,767 26,304,904 421,863
= 18,708,735
= 2,405,411
Al 5,612,621
308 AXIHS0IA 26,726,767 26,304,904 421,863
= 18,708,735
= 2,405,411
Al 5,612,621
18 SIS0t oA AS A 26,726,767 26,304,904 421,863
OZoje gsXa 26X
26,726, 767,000 *14] 26,726,767
= 18,708,735
== 2,405,411
Al 5,612,621
ESEX RS0 214,143 132,857 81,286
= 149,897
S 19,275
Al 44,971
308 AtXIEMSOIH 214,143 132,857 81,286
= 149,897
< 19,275
Al 44,971




2A:

M ZOHQ SIS (ASSX/HAHSKIH)
Celr ZOoHe! MEotE X (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
13 I 2 S0IHeHE & XS AL 214,143 132,857 81,286
OZHe EsEX Jnt2d X
214,143,0002 =14 214,143
= 149,897
= 19,275
Al 44,971
ZoHIESK2 & FIHKE 3,778,814 3,778,814 0
& 755,763
Al 3,023,051
308 AXIHMSOIH 3,778,814 3,778,814 0
& 755,763
Al 3,023,051
13 I 2 SHICHEHE & &2 AL HI 3,778,814 3,778,814 0
OISR & FIKA
3,778,814,000& 14 3,778,814
= 755,763
Al 3,023,051
LETHEMBIA BIRH K& 1,034,242 1,034,242 0
= 723,969
= 93,082
Al 217,191
308 AEXIHMSOIH 1,034,242 1,034,242 0
= 723,969
& 93,082
Al 217,191
13 SI |2 SHICHEH B A X L EFALH] 1,034,242 1,034,242 0
OLSTHEAMHIA HRH XA
1,034,242, 0003 * 14! 1,034,242
= 723,969
= 93,082
Al 217,191
SHTHEAMEIA BIRH XI&(=HI) 263,520 194,400 69,120
= 79,056
Al 184,464
301 LetENEZ 263,520 194,400 69,120
& 79,056
Al 184,464
02 MBI EZASHS(HUAS, XLTHA) 263,520 194,400 69,120
OLETHEAMEIA BIRH X (=Hl)
263,520,000 14 263,520
= 79,056
Al 184,464
AHLE XA HI2H K& 13,135 13,135 0
= 9,1%




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,182
Al 2,798
308 XtXIEMSO0IH 13,135 13,135 0
= 9,19
== 1,182
Al 2,758
13 SV 12S0He 4 A AS A 13,135 13,135 0
Ol LN HH X2
13,135,000 * 14| 13,135
= 9,19
== 1,182
Al 2,758
LR F2aE N 5,648 1,757 3,891
= 3,94
== 508
Al 1,186
308 AXIHMSO0IA 5,648 1,757 3,891
= 3,954
= 508
Al 1,186
183 S| 2SO ZB XA AIE 5,648 1,757 3,891
OLHMKe 22N XL
5,648,000 * 14 5,648
= 3,954
= 508
Al 1,186
22T FHESAHEIA K 1,543,441 1,270,096 273,345
= 1,080,410
= 138,909
Al 324,122
308 AXIHSOIA 1,543,441 1,270,096 273,345
= 1,080,410
= 138,909
Al 324,122
13 202 SOITHEHE AR S| ErANI | 1,543,441 1,270,006 273,345
OSLLHMRl FAHEMHIA X2
1,543,441,000& x 141 1,543,441
= 1,080,410
= 138,909
Al 324,122
ol YEYSY gusEshdA XA 267,232 267,232 0
= 187,062
= 24,051
Al 56,119




SN COIFORQI D
3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 267,232 267,232 0
= 187,062
== 24,051
Al 56,119
13 S I2S0He 4 A AS A 267,232 267,232 0
OHAE LR LUSHEMLIA XD
267,232,000 x14] 267,232
= 187,062
== 24,051
Al 56,119
Zojel EHoiS cldl XA 35,000 35,000 0
301 EtE NS 35,000 356,000
02 A2 EH 2GS (FHAAS, NLWE) 35,000 35,000
OoFoel EXMus «cldl X3
35,000,000 *14] 35,000
ZoelE NEE=2 SHoIHA 2 Hl X 7,100 8,875 A1,775
=S 1,775
Al 5,325
301 LEtE NS 7,100 8,875 A1,775
== 1,775
Al 5,325
02 MBI 2HHSFS(HAANS, XLHE) 7,100 8.875 A1,775
OROIZ DEER 50ITA S| 7
Bl XI& 7,100,000 * 14 7,100
= 1,775
Al 5,325
o LR e X2 (LerE-M2H Lxtel) 931,45 931,45 0
= 465,728
= 139,718
Al 326,010
101 @124H| 931,456 931,456 0
= 465,728
[ 139,718
Al 326,010
M ORIMZZ2NSE S 931,45 931,456 0
OZ ol LRl X (HLH)
931,456,000 x 14 931,45
= 465,728
& 139,718
Al 326,010
O L X2l XI& (AL Rt2l) 234,600 234,600 0
= 117,300
< 35,190
Al 82,110




2A:

3 ZOH SNST(ARSA/HLAHSKIE)
Celr ZOoHe! MEotE X (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
101 @124H| 234,600 234,600 0
= 117,300
== 35,190
Al 82,110
M ORNZZ2NSE S 234,600 234,600 0
ORORILTI2] XIR (AIZHH)
234,600,000 x14] 234,600
= 117,300
== 35,190
Al 82,110
ZoHIL el X& (SXLXel) 976,901 977,401 A500
= 486,200
== 145,860
Al 344,841
101 e/24d| 972,401 972,401 0
= 486,200
= 145,860
Al 340,341
04 JIZtN2Z2 XS 972,401 972,401 0
OFofI el X (SXLRel)
972,401,000 *14] 972,401
= 486,200
= 145,860
Al 340,341
201 et 3| 4,500 5,000 A500
01 At22t2l] 4,500 5,000 A500
Ol Xtel 2t 2B
4,500,000 * 14 4,500
ZSSHHLY XS SSLACIAE 140,224 140,224 0
= 42,068
Al 98,156
307 el2tol & 140,224 140,224 0
= 42,068
Al 98,156
1 AMISXAIEEXE 140,224 140,224 0
OzlSEEQ XEE SSLAUCIAME
140,224,000 * 14! 140,224
< 42,068
Al 98,156
ZoHel SXAIE 2 = X2 16,530,633 16,720,917 A190,284
= 5,019,928
== 2,448,234
Al 9,062,471
ZOHRIHFAIE 2 K& (<HI) 1,480,097 1,535,817 A55,720




SN COIFORQI D
I el SXNSE (MISK/FHAHSKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 308,781
Al 1,171,316
202 04l 1,640 1,760 A120
01 2LHoIH 1,640 1,760 2120
OHOfOI=XYR ZX
110,000 4 & +33] 1,320
OZMAAIE N=HA
20,0002 x2E +83] 320
307 212+01& 1,478,457 1,534,057 55,600
< 308,781
Al 1,169,676
10 Al SXAEEHE2EHI 22X 1,478,457 1,534,057 /55,600
OT0H SSHEIE 2HHI(5HA) 278,000
gzl & 55,600,000 %1 JH A 55,600
= 6,672
Al 48,928
oHiJIE 12 55,600,000 *1IH £ 55,600
< 6.672
Al 48,928
oQEILE 25 55,600,000 * 1742 55,600
= 6,672
Al 48,928
=0|F2l 12 55,600,000 *1IH £ 55,600
=S 6.672
Al 48,928
=0|Fel 22 55,600,000 * 11 2 55,600
< 6,672
Al 48,928
OZoHR! JHI2HAIE 2SHI(2IHA) 845,267
oHE0WAME=0E
487,353,000 * 10 2 487,353
== 97,471
Al 389,882
o0=s0H 357,914,000 * 104 2= 357,914
== 71,583
Al 286,331
OHOLl HFAIE SAHL SE+E
199,440,000 *14] 199,440
=S 59,832
Al 139,608
Ol HFAIE 2EHFAH|
3,800,000 14| 3,800
= 950
Al 2,850




SN COIFORQI D
I el SXNSE (MISK/FHAHSKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
OZOHR HFAIL ElaTt ZIIHES (G
Al&) 0,000,000& 2% 20,000
= 6,000
Al 14,000
OSRd LEHMe A=SHH 23|
131,950,000 %11 £ 131,950
< 30,585
Al 92,365
ZOHRIAFAIE 2 K& 6,147,744 6,147,744 0
= 4,303,421
< 553,297
Al 1,291,026
307 212+01& 6,147,744 6,147,744 0
= 4,303,421
=S 553,297
Al 1,291,026
10 Al SXAEEE 22X 6,147,744 6,147,744 0
OO HFAIE 2SHI(4HA) 6,147,744
oA 2,161,283,000& 10 & 2,161,283
= 1,512,898
s 194,516
Al 453,869
oL 1,729,674,000&3 * 11 2 1,729,674
= 1,210,772
=S 185,670
Al 363,232
oElS A 913,851,000 * 11 £ 913,851
= 639,696
=S 82,247
Al 191,908
ozdeeX 1,342,936,0002 * 11 2 1,342,936
= 940,085
S 120,864
Al 282,017
O HFAIE SIIEED| dEXE 2,520 2,520 0
= 1,512
= 504
Al 504
307 @120l & 2,520 2,520 0
= 1,512
= 504
Al 504
10 Al SAAEEHE 22X 2,520 2,520 0




SN COIFORQI D
M HOHR! SXNSE(ASISX/HLHEXH)
Chel: HOjOI ZXIAIE L SHY X (Shol: % 2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Omel A=AE 2)E=)| ag 1
2,520,000 *14] 2,520
= 1,512
= 504
Al 504
ZOHQ!I EDIHF(ES)AE 2| 371,914 371,914 0
& 28,773
Al 343,141
307 212+01™ 371,914 371,914 0
& 28,773
Al 343,141
05 2IZteEe g 371,914 371,914 0
OXOHL! EDIAHF(ES)AE 2|
371,914,000 * 171 2 371,914
= 28,773
Al 343,141
Fojelse =N 28 XA 2,104,511 2,103,611 900
& 325,943
Al 1,778,568
201 2| 900 900
01 At=R2teld| 900 900
o=2gse 900
oIS =2 =ENHHEARARS]
o 100,000& »9H 900
307 212+01 A 2,103,611 2,103,611 0
& 325,943
Al 1,777,668
05 QIZtRIErZ 1,849,718 1,849,718 0
OFeIsE=X2 228 XA
1,665, 169,000 *1JH A 1,665, 169
& 249,775
Al 1,415,3%4
OIS ESX2(ZEAE) 29 XA
KHIAFS) 184,549,000 * 14 184,549
11 AR SXAMEER 253,893 253,893 0
OFjOIZE=X2 2234 ALY
253,893,000 & 14! 253,893
& 76,168
Al 177,725
Zope! xegs 22 111,200 55,600 55,600
& 22,240
Al 88,960
307 QIZt01 A 111,200 55,600 55,600
= 22,240




2A:

PAp. el EXISE(AR=SX/FLHESXR)
ool FOHOl SXAIE U Sl X2 (crel: g)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Al 83,960
11 ASISAIAIREEX 111,200 55,600 55,600
Ol Megs 29
55,600,000& *2IH 2~ 111,200
< 22,240
Al 88,960
ool ol=2AIE 29 XA 4,416,648 4,425,048 A\8,400
& 783,150
Al 3,633,498
307 21Z2H0| ™ 4,416,648 4,416,648 0
& 783,150
Al 3,633,498
05 OIZt2| &2 220,840 220,840 0
OUA=AIZOHLIDIEX|/ME 29
220,840,000& *1JH A~ 220,840
< 44,168
Al 176,672
10 AISIEXIAIZBEE2IHIEX 4,187,808 4,187,808 0
OXEOHQ!l XATHEIAIE 2HHI(400A) 1,744,943
oS FOIHAER|
786,574,000& *1H A 786,574
== 141,583
Al 644,991
OoHLAIROHOIE S A E
297,685,000 *1JH A~ 297,685
= 53,583
Al 244,102
oSYMEEIR 345,654,000 & *1JH A 345,654
& 62,218
Al 283,436
SN THE K& &
315,030,000 *1JH 2~ 315,030
= 56,706
Al 258,324
OZHHL! =2tBSAlE 29H|(5IHA) 1,570,025
o AIZ0| JISEH &
288,364, 000& *1H A 288,364
= 43,255
Al 245,109
otESel&HeIF2E S HIE
394,376,000& 1 A~ 3%,376
& 59,156
Al 335,220
o&M2LIZ 319,457,000 & *1JH A& 319,457
== 47,919




SA I OoNel 1t
I el SXNSE (MISK/FHAHSKIH)
ol FOHOl SXIAIE L SR XY CERL
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 271,538
> &0|SH 277,339,000 * 100 £ 277,339
== 41,601
Al 235,738
cEHFNI S HIE]
290,489,000 » 100 2 290,489
= 43,573
Al 246,916
O =AIZ 20| SKJHE 2
274,325,0003 * 10 2 274,325
< 54,865
Al 219,460
OOl%AI =0 ESHE 2
304,020,000 * 100 2 304,020
= 60,804
Al 243,216
OO0 ==AIZZ0 NEXAHE =S
170,205,000 * 14 2 170,295
< 34,059
Al 136,236
OOl OISAIE SAHL SE=E
124,200,000 *14] 124,200
= 37,260
Al 86,940
1 AMISXAIEEX 8,000 8,000 0
OFel =0ud s 2218 =24
8,000,000 * 14 8,000
& 2,400
Al 5,600
SN S MEXHHE KA 158,534 168,534 0
= 63,414
< 28,536
Al 66,584
307 212+01& 158,534 168,534 0
= 63,414
=S 28,536
Al 66,584
e NEEEEETEES 158,534 158,534 0
OO%H NI I MEHE X2
168,534,000 * 11 2 158,534
= 63,414
=S 28,536
Al 66,584
ZOHQI X M X2 HIE X2 (<H]) 268,000 268,000 0
< 53,600




SN COIFORQI D
I el SXNSE (MISK/FHAHSKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 214,400
307 gl2tol & 268,000 268,000 0
=S 53,600
Al 214,400
10 Al SXA2EE 22X 268,000 268,000 0
OFOHOIRIRIAEHIE] X2 (20 4)(SHI) 268,000
oRI2 4 HOf QI X2 MEHHIES
210,000,000 * 100 A 210,000
= 42,000
Al 168,000
SJGESSIV RPN
58,000,000 *1IH £ 58,000
== 11,600
Al 46,400
stiAlE 2EX&3 930,830 930,830 0
= 651,581
s 279,249
307 elzto| & 930,830 930,830 0
= 651,581
& 279,249
10 Al SAAEEHE 22X 930,830 930,830 0
OstdllAIZ (OBt ReA) 23
930,830,000& *10H 2~ 930,830
= 651,581
= 279,249
SHIAIE 2% X2 (&Hl) 21,960 21,960 0
& 6,588
Al 16,372
307 glztol & 21,960 21,960 0
= 6,588
Al 16,372
10 Al SXAAEEHE 22X 21,960 21,960 0
OBHAAIS (UL BOIQFA) BAN S
g 21,960,000 * 14 21,960
=S 6,588
Al 15,372
ZOHQ! EHHl XI& (&) 118,000 120,000 A2,000
< 35,400
Al 82,600
307 glztol & 118,000 120,000 22,000
= 35,400
Al 82,600
02 2IZHBYAIHE A 60,000 60,000 0




2A:

A e SXNSE(ASSX/FHLAHASKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OFoHe!l 22 Xw T2 KA
60,000,000 x 14! 60,000
== 18,000
Al 42,000
11 ARRIS XA E X 58,000 60,000 A2,000
OWdZe! Alastez T23 X
50,000,000& *14] 50,000
< 15,000
Al 35,000
O ARIEH RIZ28 XIR(
2 ) 8,000,000& 14! 8,000
= 2,400
Al 5,600
Zopel M X 160,500 174,550 A14,050
307 212+01™ 140,500 149,550 A9,050
02 QA LAEE X 49,950 49,650 300
OXNHMZHASHZ ARG REE0L 2
& 4,000,000 * 14! 4,000
OUHHHA=SX A FAIK R SFEasia
29 5,000,000& 14! 5,000
OAIZIFNQI BI04 XI5 SRIAL 2
& 2,500,000 *14 2,500
O=s0lelgal=AlRle R8s 29
3,000,000& 14 3,000
OAZENLSE2H=XR REasd 2
2,700,000& %14 2,700
OHMBHMLE2 H=AKR REa8L 2
& 1,500,000 *14 1,500
Oet=HMIEESF3H=AXE B2
Ala 29 1,500,000& 14 1,500
OXEE OlgzdAl & HIPDIS A
2,000,000& %14 2,000
OMIAHIZE eI & I E A
2,000,000 *14 2,000
OAlZEoHe!l &S X
3,600,000 14 3,600
O&d= HoHe! HoIESUa FIHKZ
900,000 *14] 900
Oy &M MESH AL It X2
1,200,000 *14 1,200
OAtgel &2 oZelz2s detg=0zl Al
2 2,400,000 %14} 2,400
Odg NAFMIS & & M=l AL &
A& 3,000,000 *14] 3,000
Osoterel & AL Fot X1
1,350,000 *14 1,350
Odg &ojelel & AL It X
5,000,000 = 14! 5,000




A COIF ORIt
I el SXNSE (MISK/FHAHSKIH)
CHel: TONOI =XIAIY L S K (69 =)
5 IE!
S - BB S9I(3) - HIRAY - BaS ol &t e HIDSZ
Ol JIs3IIthel I (H=, &)
2,700,000 *14] 2,700
OLZH EQESAMS (ZHHAS2HU)
5,600,000 *14 5,600
03 LM EE2SHIEX 53,200 55,600 A2,400
O(ADXIHMZEOIE S O==AlXIE 2]
9,600,000 14| 9,600
O(ADAHZ OIS RIZ H=AIXIR 22|
12,000,000& * 14 12,000
O(AAIZIZ NI AE S H4=XI2l 2EH]
6,600,000 * 14 6,600
O(Ah)=0tIEal t==AlXIZl 23|
14,000,000 * 14} 14,000
O EZMAES 2] X1
11,000,000& * 14 11,000
1 AMISXAIEEXS 37,350 44,300 26,950
OMHNH I =R2 SAIAE 2SI
5,000,000 * 14 5,000
S0telgel 01S2E SAKE 23
5,000,000 *14] 5,000
Otlgde S4Xs dEltis At
5,000,000 14| 5,000
Os0teIEs] =0g M&aD ASoH| A
6,000,000 * 14 6,000
OAZE0e AXtus Z2 0 29 X2
2,600,000 14| 2,600
ONEZHR I ZuF (AL st==0k
wal)) 3,150,000& %14 3,150
Ol &oiel ggoz 29 (Lel Kot
£ 0tM) 3,600,000 *14] 3,600
Oggel NZZ2 08 NS (ZHRL
3l) 7,000,000 +14] 7,000
401 AlEHIZ R0 20,000 25,000 A5,000
01 Al&H| 20,000 25,000 /5,000
OZe=EX2 Lis JIsEZA
20,000,000 14 20,000
ZoHelol & AL 27,000 27,000
307 21201 & 27,000 27,000
04 QIZIHAIAIH E X 27,000 27,000
OFofelel & IS AL
27,000,000 * 14 27,000
ol SEME s N 19,000 19,000 0
307 elztol & 19,000 19,000
02 2IZHBHAIHE & 19,000 19,000
OZMe! &#EME Z=18 X& 19,000
S XMEOHL SHEHE
7,000,000 * 14 7,000




SA I OoNel 1t
Zu: DOjo =XST(MEST/FHAHSTR)
ol FOHOl SXIAIE L SR XY (12l M2
A - BB - E9I(3) - AIRA of v e HIDE2
SAIMEL HEHE
3,000,000 *14] 3,000
o AIZEROHO! B A K B
3,000,000 %14 3,000
os0tRIE3 =AIXIR SEHE
3,000,000& *14] 3,000
SAFHL HEHME
3,000,000 %14 3,000
AT ORI & SHAL 2,000 2,000
307 gl2to| & 2,000 2,000
04 QIHHAIAIH 2 £ 2,000 2,000
OAIZIZ ORIl & SAHEIXIZO0IS &) &It
A& 2,000,000 *14] 2,000
AZIEO0HR! SEHHE 23 6,300 6,300
307 lztol & 6,300 6,300
02 2B A HE L 6,300 6,300
OAIZE0Hel Sttt Me K&
6,300,000& 14 6,300
Aol 201 23Kl 5,850 6,500 2650
307 el2to| & 5,850 6,500 A\B50
04 QIZHHAIAIH 2 £ 5,850 6,500 AB50
OAtgel =01 SNl ALKIH
5,850,000 * 14 5,850
ZOHQ! HOAlE AX 134,925 197,547 N62,622
< 22,173
Al 112,752
201 er2 3| 5,400 6,200 A800
01 At2tlt] 5,400 6,200 A800
Odit=3=H| 200
SRHMEAl 2O 42 ME
100,000 *23] 200
O=g=4 5,200
SRFUTAl 22 B+Z
100,000 »13E ~42] 5,200
202 04l 660 850 A190
01 =LHA LI 660 850 A190
OH0H! HIAAE ZXAE =& 0]
110,000 x3& x22| 660
307 @I2t01 & 110,865 170,497 A59,632
== 22,173
Al 88,692
10 Al2ISTIAIEEE 22X 110,865 94,615 16,250
OHGHAIZMAEASTI = XA HEH
29 110,865,000 *14] 110,865
= 22,173




SN COIFORQI D
I el SXNSE (MISK/FHAHSKIH)
ol FOHOl SXIAIE L SR XY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 88,692
401 Al HIZL S 0HHI 18,000 20,000 /2,000
01 AlZ8| 18,000 20,000 22,000
OO+ FOJOIFTRS OHYE M7 L &
g e 18,000,000 * 14| 18,000
Z0He!l HSUIEIME g 43,100 43,100
401 AIEHIL 2] 43,100 43,100
01 Al&H| 43,100 43,100
OO HRLIEIME 28 BTAS J|=
i=plal 43,100,000 *14] 43,100
YA HHI(=QIZ0HRI) (DIEHIIE}) 192,208 194,318 A2,110
el 2| 119,485 113,736 5,749
el 24| 119,485 113,736 5,749
101 @124H| 119,485 113,736 5,749
FEEESESIPEDEED RS 119,485 113,73 5,749
OARRIIRR4Y
14,5873 x 10 *20A| 2H+ 12 +150% 52,514
O ] 173,950 7 »56& 66,971
Jl=23sl 72,723 80,582 AT,859
JI23Hl 72,723 80,582 AT,859
201 et 3| 46,718 53,432 N6,714
01 At22t2l] 46,718 53,432 AN6,714
OYutrgH| Zo4H|4
27,039,000 * 14| 27,039
OSgHl S9A & 19,679,000 » 14 19,679
202 04dl 17,605 19,650 A2,045
01 =LHNHI 17,605 19,650 A2,045
ORANEY SHAY 17,605,0003 % 14] 17,605
203 =4l 8,400 7,500 900
M FA2HHIFII 8,400 7,500 900
O QI Z0HRI BHE7TH) 8,400
o= (239) 350,000& 122 4,200
o EU KL (3Y)
100,000& * 12 1,200
o=z A(11Y) 250,000 x 122 3,000
NWERES(cHMRIW) (LESSHE/HE - =8) 2,534,200 7,440 2,526,760
FSUNES 2,534,200 7,440 2,526,760
2EXE 2,534,200 7,440 2,526,760
802 grat= DI E 2,534,200 7,440 2,526,760
01 2N2XSeE= 2,534,200 0 2,534,200
Odgds Nadgd Ag 2,534,200
SAIBTN(=2D(3)
2,497,000,000& *14] 2,497,000




M LoIZOHoID:
A YRES(COIRMNID)(LYTIHE/ME - 28)
ool SEXE
MEE
= Ofl &F2H Ol Abou
o

SN - BB SR(SIH) - KNISAY - B

SAUPN; 37,200,000 *14] 37,200




